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PART | Structure and Vocabulary (10% )

Directions:  There are 20 incomplete sentences in this part. For each
sentence there are four choices marked A) , B) , C) and D).
Choose the ONE answer that best completes the sentence .
Then blacken the corresponding letter on the Answer Sheet

with a pencil .
1. T would appreciate it a secret.
A) your keeping B) that you keep
C) you to keep D) that you will keep
2. No matter how frequently , the works of Beethoven always at-
tract large audiences.
A) performing B) performed
C) to be performed D) being performed
3. , one tin will last for at least six weeks.
A) Using economically B) If using economically

C) Used economically D) If used economically



10.

11.

12.

. You yesterday if you were really serious about the job.

A) ought to come B) ought to have come
C) ought to be coming D) ought have come

. Woodhead a lawyer now if he had studied laws in college.
A) were B) would have been
C) should be D) would be

. Mary always has a lot of letters to write. She letters all after-
noon and she yet.

A) wrote. . . didn’t finish

B) writes. . . doesn’t finish

C) has written. . . has not finished

D) has been writing. . . has not finished
to dinner tonight.

A) How thoughtful of your taking me

B) How thoughtful of you to take me

C) How so thoughtful of that you take me

D) How thoughtful of you for taking me

. The goals he had fought all his life no longer seemed impor-
tant to him.
A) for that B) for which
C) for what D) of whom
Sally likes the present is not clear to me.
A) Whether B) What C) If D) That
Not until the year of 1954 made the capital of this province.
A) the city was B) was the city
C) when the city was D) was when the city
There’s little chance that mankind would a nuclear war.
A) retain B) maintain C) endure D) survive

The French pianist who had been praised very highly to be a



134

14.

15.

16.

17x

18.

19

great disappointment.

A) turned up B) turned in
C) turned out D) turned down
He made such a contribution to the university that they are

naming one of the new buildings after him.

A) genuine  B) modest C) minimum D) generous
It’s to ask this merciless man for help.

A) out of question B) out of the question

C) beyond question D) in question

Alchemy was regarded as science.

A) at one time B) at other times

C) at a time D) at time

John compared his wife __ a rose, but their little daughter kept
on saying that the two were not

A) to. . .comparative B) with. . . comparative

C) with. . . comparable D) to. . .comparable

I remember seeing John years ago, but I can not where it
was.

A) remind B) recall C) recognize D) memorize

The designer believed that the hall under construction could have a
of holding at least 10,000 people.

A) credibility B) capability C) capacity D) activity

We are all surprised to hear that Mr. Lee has been in that

murder case.

A) withdrawn ~ B) protested C) involved D) recovered

. That flat of five rooms, including the kitchen and a bath-
room.
A) composes B) contains C) includes D) consists



PART I Reading Comprehension (50% )

B A

Directions:  There are 4 passages in this part. Each passage is followed
by some questions or unfinished statements. For each of
them there are four choices marked A), B), C) and D).
Your should decide on the best choice and blacken the corre-
sponding letter on the Answer Sheet with a pencil .

Questions 21 to 25 are based on the following passage:

There is much discussion today about whether economic growth is
desirable. At an earlier period, our desire for material wealth may have
been justified . Now, however, this desire for more than we need is caus-
ing serious problems. Even though we have good intentions, we may be
producing too much, too fast.

Those who criticize economic growth argue that we must slow down.
They believe that society is approaching certain limits on growth. These
include the fixed supply of natural resources, the possible negative effects
of industry on the natural environment, and the continuing increase in the
world’s population. As society reaches these limits, economic growth can
no longer continue, and the quality of life will decrease.

People who want more economic growth, on the other hand, argue
that even at the present growth rate there are still many poor people in the
world . These proponents of economic growth believe that only more growth
can create the capital needed to improve the quality of life in the world.
Furthermore , they argue that only continued growth can provide the finan-
cial resources required to protect our natural surroundings from industrial-
ization .

This debate over the desirability of continued economic growth is of
vital importance to business and industry. If those who argue against eco-

4



nomic growth are correct, the problems they mention cannot be ignored.

To find a solution, economists and the business community must pay at-

tention to these problems and continue discussing them with one another.

21.

22.

23

According to those who argue against economic growth we must slow

down for the following reasons EXCEPT that |

A) our natural surroundings are in danger of being destroyed by in-
dustry

B) the fixed supply of natural resources marks a point beyond which
economic growth cannot continue

C) the world population is ever increasing

D) more efforts should be made to improve the quality of our material
life

Those who want more economic growth believe that continued eco-

nomic growth

A) is essential to the well-being of society as a whole

B) can provide the solution to many of our social problems today

C) can protect our environment from being polluted by industry

D) can provide us with more natural resources for industrialization
We may infer from the context that“ proponents” ( Para . 3) most proba-
bly means

A) arguments is support of something

B) disagreements ‘

C) people who argue for something

D) people who argue against something

. The passage is mainly about :

A) the contradiction between economists and the business community
B) the present debate on economic growth

C) the advantages and disadvantages of economic growth

D) the importance of the debate on economic growth



25. We may infer from the passage that

A) the author describes the case as it is

B) the author is for economic growth

C) the author is against continued economic growth

D) the author is very much worried about the problems caused by

continued economic growth
Questions 26 to 30 are based on the following passage:

Normally a student must attend a certain number of courses in order
to graduate, and each course which he attends gives him a credit which
he may count towards a degree. In many American universities the total
work for a degree consists of thirty — six courses, each lasting for one
semester. A typical course consists of three classes per week for fifteen
weeks, while a attending a university student will probably attend four or
five courses each year. It is possible to spread the period of work for the
degree over a longer period. It is also possible for a student to move be-
tween one university and another during his degree course, though this is
not in fact done as a regular practice.

For every course that he follows a student is given a grade, which is
recorded and the record is available for the student to show to prospective
employers. All this imposes a constant pressure and strain of work, but in
spite of this some students still find time for great activity in student af-
fairs. Elections to positions in student organizations arouse much enthusi-
asm. The effective work of maintaining discipline is usually performed by
students who advise the academic authorities. Any student who is thought
to have broken the rules, for example, by cheating, has to appear before
a student court. With the enormous number of students, the operation of
the system does involve a certain amount of activity. A student who has
held one of these positions of authority is much respected and it will be of
benefit to him later in his career.

6



26.

27.

28.

29

30.

Normally a student would at least attend classes each week.
A) 36 B) 12 C)20 D) 17
According to the first paragraph an American student is allowed

A) to live in a different university

B) to take a particular course in a different university

C) to live at home and drive to classes

D) to get two degrees from two different universities

American university students are usually under pressure of work be-
cause

A) their academic performance will affect their future careers

B) they are heavily involved in student affairs

C) they have to observe university discipline

D) they want to run for positions of authority

Some students are enthusiastic for positions in student organizations
probably because

A) they hate the constant pressure and strain of their study

B) they will then be able to stay longer in the university

C) such positions help them get better jobs

D) such positions are usually well paid

The student organizations seem to be effective in

A) dealing with the academic affairs of the university

B) ensuring that the students observe university regulations

C) evaluating students’ performance by bringing them before a court
D) keeping up the students’ enthusiasm for social activities

Questions 31 to 35 are based on the following passage:

Within the busy streets, quiet gardens and spacious squares, Lon-

don is peopled with a cast of immortals. There are over 300 statues and

monuments in Westminster alone, and many more in the surrounding ar-
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